Cumulative Percent

5]5 1 1|0 ]t?S 2%0 2’:"5 33:0 3?5 9 SJS 1 lIO 1?5 22|0 2?5 33|0 3?5
prm—————————— F 100
:J Class
I I -
: _ ‘Class i} Animal
i 1_ Animal - 80 [ Piant - 30
i D Plant L
! L
I
iH— Kolmogorov-Smirnov test statistic is 0.48 - 60 E
i I 2 - 20
| ]
A ~
: - 40 r
|
: 10
i F 20
r | L
0 0
Numbers of Stack Numbers of Stack
-
: | Class
60.0% L I | Animal
! |:] Plant
1 |
Vo
= 1 !
5 400% (.
=4 !
A b
Pl
I -
i I
20.0% - | 1
1 I
i I
i I
e 1 I |
0.0% 1 :_| 1 | - | 1 1 — —
Uvo I | 1 1 | I I I I
5 no A N A 2 N o P o
5 & G ~2') Y & N & Qﬂ"\ \.p"”\

Numbers of Stack



